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2N MEETAYL
a: Mz
AUXYALTO BN T2 CERED

= - SHE|
HE .o (3H) - HEAY - B %Ei HRZ2
Ot - OFA X P XataT SEAY 5,000
SHEMB20S (REXR) 900,000 900,000 0
Xl 630,000
= 270,000
401 AlEHI 2 =20HY| 900,000 900, 000 0
Xl 630,000
2 270,000
01 Al&HI 900,000 900, 000 0
OFMAT KLz SHEAS 900,000
Xl 630,000
2 270,000
SHEMS2IHLONEXR) 714,000 0 714,000
Xl 500,000
2 214,000
401 AlEHIZ =20 714,000 0 714,000
Xl 500,000
z 214,000
01 Al&HI 714,000 0 714,000
OMHR T KLaT SHEAY 714,000
Xl 500,000
= 214,000
EXN0ISMLE N 22 1,264,520 1,219,234 45,286
Xl 410,000
[ 36,000
2 818,520
ARDLCALE 2Y 154,520 154,520 0
201 Y2 148,735 148,735 0
01 AFR 22| H 148,735 148,735 0
O Z=Z A AtH| 148,735
OXBtE2L=2AH (11HES)
75,8002 «224 01 A 16,980
OHZ A2 AHI(6ME =)
30,7002 *280H A *23] 1,720
OHZ A2 AHI(9ME =)
217,0002 »28 71 A 6,076
OIS AT A AH (56018 =)
319, 2009 *2530 & 80,758
QDS AT AAH (130HE =)
56,5202 *253J A *33] 42,899
QoA HAHI (7HES)
30,2002 *20H A +53] 302
206 24l 5,785 5,785 0
01 24l 5,785 5,785 0
OUISALT2RAANE 2ATMLE Y
170, 0002 #208 A 3,400




2N
X ZH -
L= B

el

StaE A A
ac el
OEXDISHLE HEE

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
ONSA+C A=otE]
3,000 x3kg 265l A~ 2,385
IAMEQITIR(MEES) 200,000 300,000 A 100,000
Xl 140,000
= 60,000
401 AlEHIZ 201 Y| 200,000 300,000 A 100,000
N 140,000
= 60,000
01 Al&H| 198,000 298,000 A 100,000
OsE=sY MES INEAY 198,000
N 140,000
= 58,000
03 A& £ HH| 2,000 2,000 0
O=sEsd MEES LAY 2,000
A2 =5 EEF5 AAE HEAY 386,000 385,714 286
Xl 270,000
= 116,000
401 A& HI L 204 HI 386,000 385,714 286
Xl 270,000
= 116,000
01 Al&H| 383,000 382,714 286
OAARLEELSSIAIAE HEAIE 383,000
N 270,000
= 113,000
03 Al&E 21| 3,000 3,000 0
OATARTELSIAIE HEALS 3,000
MALECHNENR2H 4,000 4,000 0]
202 044 3,000 3,000 0
01 2L Y| 3,000 3,000 0]
Oat= 2tad 2L HI 3,000
203 R F & 1,000 1,000 0
03 AIZH =X 2= X H| 1,000 1,000 0
OM+E 2E DA 1,000
LT AEIHESAS 400,000 255,000 145,000
401 AlEHIZL £ 0HY| 400,000 255,000 145,000
01 Al&H| 400,000 255,000 145,000
OLTFABREZAIE 2 s} 130,000
OUAE2 5N AT TAE HEL=ALY 130,000
OHLHHIMELX (HIAMAHE)
18,000,000 1504 &~ 270,000
AT A ERE 2 ALY 120,000 120,000 0
= 36,000
= 84,000




SA: ABIAZAIYA
E: LT
2 sHEXNGNSE = HEHE B2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 120,000 120,000 0
= 36,000
s 84,000
01 A& HI 120,000 120,000 0
OLHEFTAE RAEZEAY 120,000
< 36,000
s 84,000
3ot 2tel 8,360,319 15,710,793 27,350,474
= 2,638,000
= 550,670
e 5,171,649
St M2ANE2S 3,035,153 3,080,529 A 45,376
St=XelAlE23F el 1,848,376 2,077,686 A 229,310
201 LBH2E| 785,241 761,301 23,940
01 At 2t 2l 25,300 57,700 A 32,400
oYt 21,100
Og43AY U FxE g2y
300,000 43 1,200
Odt=MMNHI ELEHIIE A4l
60,000 x215t 2 %37 A 3,780
OBE=FII DEAAN 248
290,000 x8& 13| 2,320
OSAFZBA =3 400,000 *3H 2 +43] 4,800
OXIILH A =2 (27],80],8d)
9,000,000& =13l 9,000
ou =l 4,200
o= 100,000& »14H »23| 2,800
Ootd 3t 50,000& x14H 13 700
O&st € 29 50,000& x14H «13] 700
02 =24l 759,941 703,601 56,340
0332 % HA 619,300
OnHot=HelAld HIRI (B, 2A4
ZE) 44,500,000& x123] 534,000
OMoIEANE &Rz 5,500,000& =123l 66,000
OHI|IotHE & 3l H| 100, 000& * 13l 100
OS2HHa d83 4l 1,200,000& 128 14,400
Ot KRR 2tel 400,000& 123 4,800
OAEZHIS X 134,641
Od==s A2l 1,017& x5,055m 5,141
Odt=HMelAlE JIHAIE S 2el 30,800
— W) |RA2el 200,000 x12CH*23] 4,800
—YdBtE T SX&2 1,000, 0002 =8CH 8,000
—=3EZ A2 1,000, 000& »7H 7,000
—dsgEE = 500,000& *2H 1,000




A dot=Z A A
B ZRoAE B2
thel: Ste=E2LMHelANE2Y
SA BB O () - MM - HES 0l &+ o4 il
— MR EH 8 1,000, 0002 *6CH 6,000
—ZBJI7mX 22 500,000& +8CH 4,000
OExA4d A& 30,000
—OE WA 6,000,000 = 1CH 6,000
~EFUED 24 U DA
8,000,000 = 1CH 8,000
— 3D A RA&2 2,000,000 x4CH*23] 16,000
OMoIs8Ad X2l 13,000
—2duEIT S22 500,000& =4 CH 2,000
—=FEID S22 500,000 *2CH 1,000
—SZY A SR &2l 1,750,000 x2CH *23] 7,000
—FIIANE AQE DY
25,0003 x10J4 x 105 2,500
— H=EH sX&2 500,000 = 1CH 500
Oodt=HelAlE &EIIAIE S 2el 41,300
—t2s SNE= 100,000& *33H 3,300
—HIIANE ABS 20,0003 x104 x105 2,000
—S2HHA PCSHETREY
1,000, 000& *2JH4 2,000
— =&Y =4 2,000,000 »2CH 4,000
—oHEH WX 5,000,000 =6CH 30,000
O=ZTMS X2l 9,600
— 3 &el & Al 9,600
O&A A EH Rl 4,800
—&==HMED 2L 1,500, 000& 22| 3,000
—DOBIEH &=L A 500, 000& *23| 1,000
—DASIEZI NHEHDH
400,000& *23| 800
O Xt& & B 3,000,000% »2CH 6,000
202 odl 7,050 7,050
01 2LHoIHI 4,650 4,650
Odt=HelAlE R=A0H 4,650
05 323 WEHH| 2,400 2,400
Ost=45t+=E 83 WU 600,000& x4H 2,400
203 R =&l 1,000 1,000
03 Al F=XHRFEH| 1,000 1,000
Oot=xXclAd 828 L R 1,000
206 M= Hl 67,285 67,285
01 24l 67,285 67.285
Qot=XelAld 24572l 27,060
2dE(HA) 220 »200kg x3652 16,060
OVNEXNSEM (LA 110,000& 100 11,000




A dot=Z A A
Hm: ZZAE 22
SR P ENE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMOIEAE A4S 28,285
OZel g3t 20Is(PAC)
3703 1852 B *3652 24,985
ODEXNSEM (LA 110,000& 30 3,300
oagazd 11,940
Oags AMNE2Y 50,0003 155 *43| 3,000
OaEs =7 724 80,000& x10E *43| 3,200
Ol&ETD=Z HECIEE +& 70,0003 *50= 3,500
OMOoIsSAd AEA L X 2
70,0003 x 165 *23] 2,240
307 21201 A 257,000 169,050 87,950
05 BIZHRIE 3 257,000 169,050 87,950
O+FIAALANAY 2HAS (DY, 3l5,HT)
158,000, 000& * 14 158,000
OHIIE2(14,sla, Hg) A=l
99,000,000& x14! 99,000
401 AIEHI L 2 CHYI 722,000 1,056,000 A 334,000
01 A& HI 722,000 1,056,000 334,000
OJlsdctzuol ME =&l 392,000
=% CCTV, DVR WX S At
180,000, 000& * 14! 180,000
OANH LI E= L AAHX X SA
200,000,000 =14 200,000
O olS2AHO0I EH L Duct &X
12,000, 000& 14 12,000
ONEES HUAMACH(ASH)
10,000,000& «2H £ 20,000
ODNH3=HelAE W EL3 A
10,000, 000& *23] 20,000
Ok= 23S SJI7 nHSM
500,000& 304 15,000
OE=Jl =& ¥ WA 20,000,000 =14 20,000
OEx=s == SZdAF WHMSBA
15,000, 0002 1CH 15,000
OZ4E U SUABDE 24 YLTA
10,000,000 *20H 2~ 20,000
Ol4dot=HelAlE 22 X8 &M ¢ B+
S A 10,000,000 «2J4 2 20,000
OEzx=s == SJI+ WHMIA
200,000& 504 10,000
OXZTEHXN == sH XTI FHIBA
5,000,000 «4J4 & 20,000
Os&F%x €dX=8I € S2J BEx+3A
20,000,000 » 14 20,000
Og&= 2clx & OIS0 HHISA &
[2HES 30,000




2AMN: Aot ALY A
Hm: ZZAE 22
SR P ENE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OL®:® Was4ddl WX 3A 25,000,000 «2CH 50,000
ORINNMIASZ2EX BHE 2l WX 3 A
25,000,000 *14! 25,000
OL= 4t NS HO B WX S A
45,000,000 * 14! 45,000
405 XtabF S| 8,800 16,000 AT,200
01 AL 2B F SHI 8,800 16,000 NT,200
oaAsa AXSE0E WH 5,500,000& = 1CH 5,500
OMEA CDEHE 24X 1A
3,300,000 =1CH 3,300
oK EAIE2d9 22| 70,000 65,000 5,000
201 L2 A Y| 20,000 20,000 0
02 324l 20,000 20,000 0
O2=dXelAld S22 20,000
OsEI =4 2,500,000 4 CH 10,000
Ol =4 5,000,000& * 14 5,000
OHI fias =4 1,000,000& 53] 5,000
401 AIEHIL 20| 50,000 45,000 5,000
01 A& HI 50,000 45,000 5,000
ONEX, SEXAEXT =5 MIEX WHZA
35,000, 000& 14! 35,000
OETE & HHIOON ¥ 2 EA WX 3A
15,000, 000& =14 15,000
ot NESAE2d 2 412,640 386,640 26,000
201 et A b 43,000 35,000 8,000
02 =294l 43,000 35,000 8,000
Oodla=sdNESAE ST 22 (P58, 8 108) 43,000
ORL2H =4 2,000,000& *x24] 4,000
o3J1gs)] =4 2,000,000 x4 = 23| 16,000
ogusl =4 1,000,000& x4= 4,000
ogezg &4 1,000,000& x4 4,000
OJIEtAZ2ZE WA 100,000& x10& *x53] 5,000
OR=& INSEZ&I| =& 10,000,000& 14! 10,000
206 M= Hl 14,640 14,640 0
01 X2 Hl 14,640 14,640 0
E=StAld ZHX HE M
B600& =1,7000H x12& 12,240
OEYW 2 10,000& 200 12& 2,400
401 Al HIL 201 355,000 337,000 18,000
01 Al &bl 355,000 337,000 18,000
OALFI=&CH 20 O >=4&H| 70,000




o o o
1+ 0p o
AL 9 >

T AbRA
“z 22
LHRIANL S

MY . B (3H) - NEAY - BAS il 2
OfsANE 232 HAHEX EX3A
70,000,000 =14 70,000
ORSAL(M,7) 5 HDOSHI BT
20,000,000& =24 A~ 40,000
OR=AE & SI? WHSA
10,000,000& #2204 A~ 20,000
O2¢ & HEHZEC20l ¥5 DHZA
6,000, 000& *5CH 30,000
OR=2HO0NH L EMI| B3 At
15,000, 000& =2CH 30,000
OAZI|(&,F) 3lE AHOE nHMBA
20,000,000 *=2CH 40,000
OBsANE = UHSHOEH D2 A
25,000,000 =1CH 25,000
OR=X & 15 2H dLAH3A
5,000, 000& *5CH 25,000
OR=sANE =& 528 ZY0E DHMSA
20,000,000& =24 A~ 40,000
ORSANE =5 LA DH2A
3,000, 000& *5CH 15,000
ORHAE 23 2o L 44
10,000, 000& *2CH 20,000
SHEBEZE 2922 88,220 62,620 25,600
201 LBt A H| 68,220 56,420 11,800
01 At 22l bl 6,720 6,720 0
O det+2H| 6,720
O4YEHEDY MIjoMBARB L2
150,000& =128 1,800
OYAESAHEDT Y MI|tM2A W2
150,000& ~12& 1,800
O4+LSHBIZ RAUAHAAYL4E
130,000& ~12& 1,560
OLASHHIZ LUAHAAB 242
130,000& ~12& 1,560
02 352 H| 61,500 49,700 11,800
OZ2Z22=2L Al 42,000
OZHEIX MIQ2(Y, e DA
3,000,000& x12& 36,000
OMEEIZTH M2
50,0003 *10H A~ *12& 6,000
O A& &Hl S X 19,500
SEHSAHEDE S22 11,500
—NsdE H0H 2,000,000& =2LH 4,000
— OIHE =M 1,000, 000& «2LH 2,000
— @A S X2 500,000& * 14 500
—NsA3e =4 5,000,000& x 14! 5,000




AN dot=SAFE A
Ny ZRolAT B2
thel: Ste=E2LMHelANE2Y (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OGS HEZE X2 8,000
—JIEtA2 3 200,000& x5& 1,000
— 2H=d 500, 000& =4TH 2,000
—4ZEIT 9 A3 $4
5,000,000& » 14! 5,000
401 Al HIZ 2018 20,000 6,200 13,800
01 A& HI 20,000 6,200 13,800
OMEHITY USZAMAAAE AXIS A
20,000,000 » 14l 20,000
ob=XelAld SAZ33 MY 23,757 12,731 11,026
101 @124 Hl 9,617 8,991 626
04 DIt Z2XREES 9,617 8,991 626
ODMBI+HIANLL LB HERQ o2
106,850 *3H 42 53| 6,411
ODNHEGEHANLLLBE 222202 (H
A, &8E) 106,850 *3H x53| 1,603
OZHEZH (2 &, nANMEEY 12
106,850& »3H *53] 1,603
201 ¢4l 2,140 2,140 0
02 =224l 2,140 2,140 0
oA ZHl 1,140
Ol L LRI (FLR)
1,520 x502| E x 153 1,140
O A& ZEHl S X bl 1,000
OA2F (M= L &CAIN)
200,000& x53] 1,000
206 M= Hl 2,000 1,600 400
01 M= 4l 2,000 1,600 400
OsAFL(HM=HM S) 200,000 »55+ A 1,000
Odt+=XclAN4d =37 7
2,000& *10001 x5 1,000
401 Al HIZ 201 Y] 10,000 0 10,000
01 A& HI 10,000 0 10,000
OMUEHR ScL0t 23 A
10,000, 000& 14! 10,000
2 stot=Hel Al 823 273,710 274,651 A 941
101 @124 Hl 3,206 2,997 209
04 JIZHHZ22XEES 3,206 2,997 209
OftaHeINE L ATH HHTY AR
106,850 *3H 2 53] 3,206
201 ¢er24| 77,700 88,950 A 11,250
01 At 22l 7,600 22,350 A 14,750




SA: ABIAZAIYA
Hm: ZZAE 22
thel: Ste=E2LMHelANE2Y (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBt~ 6,600
ORoZHANAE 2= 150,000& =128 1,800
O&JItE el +=+= 200,000& »12& 2,400
Oz stot=HelMNE2E 225 +¢
200,000& »12& 2,400
O&JI&Hl EIIHA ===  1,000,000& 12/ 1,000
02 =24l 70,100 66,600 3,500
03323 % HA 42,000
Odt=HelAlE &JI2=a  3,200,000& 123 38,400
OSHEEZZE HII23 50,0003 128 20 & 1,200
Oste=s 200,000 »12& 2,400
O A& &EHl s Xl 28,100
O&3J=d 500,000 =4CH 2,000
Og&sHdelll sXel 3,000,000 = 1CH 3,000
Otz & B2Z8 X2l 500,000 «10CH 5,000
OEHI = 5,000,000 = 1CH 5,000
O==ZTMS 22| ZAtHl 9,600,000 13 9,600
O=TEZ 4 500,000& +7CH 3,500
206 M= Hl 31,304 27,704 3,600
01 =8l 31,304 27,704 3,600
OLNEANSTE M (A 9,000% *4kg 3652 13,140
OHE=S(EAHMHA) 1,000& *30kg*365< 10,950
OLE(HMH) 2203 *45kg x365 3,614
OFelA P (HsF) 50,0003 61 x 128 3,600
401 Al HI L 2T 161,500 155,000 6,500
01 A& HI 161,500 155,000 6,500
OJlsdsB 0 ME =&l 3,500
OSEdSTEHMaI dH L SE HXSA
3,500,000& =14 3,500
OB NHS=ELH EX3AM
20,000,000& =14 20,000
Og&dE BEHMeldl A8 2 & =4
15,000, 000& 14! 15,000
OftEx =5 SELA AHEI LWHMBA
10,000, 000& * 14! 10,000
OAZ(LE) FLHH HLZA
18,000, 000& 14! 18,000
OftEsE Al B o1d)| AX3A
10,000, 000& 14 10,000
ottEx =5 Z2J| & ¥UE WHMSAM
10,000, 000& * 14! 10,000
OE =AY olSHH2 2L A
20,000,000& =14 20,000




MBtET A A
ZZot+E el
StaEnHeANESY (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OOtel BOAE(EX, SMEID S) BHIZ A
20,000,000 * 14} 20,000
ogae NISH SEt FHEIZA
10,000, 0002 *1 44 10,000
OL% SJI17 BHZA 500,000 *307H 15,000
oSy YAZA 10,000,000 *1 44 10,000
AEotemelAE2Y 318,450 201,201 117,249
101 Q121 bl 3,206 2,997 209
04 JIAHH2ENSE S 3,206 2,997 209
Ot+HMelAE & HMSBE MEARY
106,850 3% 22 #53 3,206
201 B2yl 90,500 110,060 £19,560
01 At 22l 11,800 27,760 A 15,960
CEIETE= ] 10,800
ORAAHAAH L2
200, 00021 274 £ * 122 4,800
OFIIQHHUB 442 150,0008 %274 £ #1228 3,600
ONRT4HAAL 29 222 Y
200,000 * 122 2,400
OFII &Yl HIIAA £42 1,000,008 18] 1,000
02 ZZ 2l 78,700 82,300 A3,600
0OZZRILHAl 63,600
OABStEMAAL ®IIQS
3,500,000 * 122 42,000
OSHEBDZ XJIQ3(4S24MHL)
1,500,000 * 122 18,000
OSYHN S4R3 300,000% * 122 3,600
OAl & ZHIRX I 15,100
OJIHAE KX 300,0008! +105 3,000
OFIIANE KXl 200,000 105 2,000
Oflag®I| RX e 500, 000! «1CH 500
SZTNS BT 22l 2AH 9,600,008 *13] 9,600
206 i 2 b 32,744 29,144 3,600
01 WEHI 32,744 29, 144 3,600
Os%TY 200,0002 +38 A 600
ODEXNSHM(MA) 9,008 *4.5kg*3652 14,783
AZ (2 HH) 22021 +35kg *3652 2,811
OMES(ZAHIN) 1,000%! *30kg*3652 10,950
OTelA PY(HS PY) 50,0008 <67 122 3,600
401 Al EHIZ 2O 192,000 59,000 133,000
01 Al&H 192,000 59,000 133,000
OYS SHBIH =3 +ZHIZ DHSA
22,000,000 *1CH 22,000




A dot=Z A A
Hm: ZZAE 22
SR P ENE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OE=AH 0ISBZ EXSA
50,000,000& =14l 50,000
OB NSEHLEH EXSA
15,000, 000& 14 15,000
Ok WASEX E3 A 20,000,000 14! 20,000
O=4 Ex=Z A 20,000,000& =14 20,000
OzelAtRa dF 23 A 10,000,000 *14) 10,000
ORYEZIL R 2D EX3A
15,000, 000& 14! 15,000
OftEex =& EELA AHFI LHMSA
20,000,000 » 14! 20,000
OL= SJI7 UASA 500,000& 40K 20,000
StXMelEAg 3,770,000 7,965,930 A 4,195,930
= 2,638,000
< 550,670
[ia 581,330
St=So Xl 2 Zel(sHEtSot==EH) (UL 2,209,000 3,313,640 A 1,104,640
=)
= 1,546,000
< 316,455
e 346,545
401 A& HIZ 201 Y| 2,209,000 3,313,640 A 1,104,640
= 1,546,000
< 316,455
fia 346,545
01 A& HI 2,206,000 3,310,640 A 1,104,640
OUI=s0lE0tS ot=Z&AAY 2,206,000
= 1,546,000
< 316,455
[ia 343,545
03 A2 2 0HHI 3,000 3,000 0
OURA=s0HEDS St &XAY 3,000
SS9 X Y Zed(sHEOIS6H2SFH)(SH) 1,132,000 428,570 703,430
= 792,000
< 169,715
s 170,285
401 A& HIZ 201 Y| 1,132,000 428,570 703,430
= 792,000
< 169,715
s 170,285
01 A& HI 1,130,000 428,570 701,430
O sUHELS St E XA 1,130,000
= 792,000
< 169,715
s 168,285
03 AIE 2 THHI 2,000 0 2,000
OSHESUHEDNS o= & X ALY 2,000




SN dot=Z A A
Ny ZRolAT B2
©el: oSt FE ALY (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
St==2 AXl ¥ 2el( OtSst== &) (&el) 429,000 0 429,000
2 300,000
S 64,500
T 64,500
401 AIEHIZ 2 I 429,000 0 429,000
= 300,000
& 64,500
T 64,500
01 A& dl 427,000 0 427,000
Quels0EDS ot &AL 427,000
= 300,000
S 64,500
= 62,500
03 Al& 2 i b 2,000 0 2,000
O4cl=s0ENSE ot EXIAE 2,000
of =2t HAHY 545,000 3,988,000 A 3,443,000
SHE LT HYIAY 545,000 380,000 165,000
401 AlEHIZ 208 545,000 380,000 165,000
01 AlZHI 545,000 380,000 165,000
OSHot==dH At 545,000
ONdE ot+==dHI3A 50,000
OBR0t= o232 JHISA 60,000
OSsdFH QAL IAMN & JI2AHE =8
9 20,000
02019 SOHEDNSot=SEXIAMY D2 & &
ANEAHES 415,000
ot==28 & 2 1,010,166 676,334 333,832
DSstaT ALY 22 708,514 484,282 224,232
201 LBt2 S| 92,040 79,280 12,760
02 s5=3Hl 92,040 79,280 12,760
o0z22=3 £ M 73,140
OltstESot=HelAlE &IIL=s
150,000& #2700 A +12& 48,600
oS 2=+ oy dlles3
40,000 *4 10 2=+ 12& 19,680
Oltse? S3ot=HM2AE FH22TEL
90,000& #2704 2= %23 4,860
O A& &I st 18,900
Oblt=? B3ot=XelAlE AMERXE |
700,000& 270 £ 18,900
202 o4l 3,000 3,000 0
01 S OHI 3,000 3,000 0
Odt= At 2 =20 3,000




SA: ABIAZAIYA
Hm: ZZAE 22
S LT (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
203 H R =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
Odt=S 2t Dl 1,000
307 2I2t0l A 387,494 353,502 33,992
05 RIZIRI & 3 387,494 353,502 33,992
Oll2HA33ot=HelAE S AS(27H L) 387,494
401 AIEHIZL 28I 224,980 47,500 177,480
Y| 224,980 47,500 177,480
SHAS3ot=HM2AIE JI=8E AAl
10,560,000 «8IH £ 84,480
OFII0OS N2l SIE HE HUIZA
24.,000,000& =14 24,000
A0S BB XTLSIIE 3 ZHISA
20,000,000& =14 20,000
ONZEOIES BHSEEl E=3A
400, 000& 504 2t 20,000
E HEEZH L H2AE =€ uil
t 500,000& =37 CH 18,500
£ REH L HIANE HUISA
1,000,000 * 120K £~ 12,000
oSS ISot=HelAE 38X =4
3,000,000& =54 2~ 15,000
2SS WASEI &XSA
15,000, 000& * 14 15,000
A0l MEdod HX o) AXISA
8,000,000& x 14! 8,000
IOl MHEdHDd™ EXZ 012D XIS At
8,000,000& » 14! 8,000
e SAE 22 (NI LTl ArY) 202,511 192,052 10,459
101 14 dl 72,188 62,245 9,943
4 JI12ZHZEXNSES 72,188 62,245 9,943
OAld2el&d o2 56,801
oerey 60,2403 x250 x2H 30,120
O=xeHAxt==d 60,2403 x652 x2H 7,832
Ooxgz2ed 90,360& x50 x2H 9,036
OI0UHZRES 46,988,000& *4.5% 2,115
OCHZZERES 46,988,000& x3.6% 1,692
OLeEEHRYZ 1,692,000 *3.28% 56
(OFE=350=: Py =g 46,988,000& x1.5% 705
ONNEERY S 46,988,000 x3.5% 1,645
O& &= 1,800, 000& x2H 3,600
OWH=Y F 15,387
ODEMENBISAIA OIFTY o2y
106,850 *4H x6 L 63 15,387
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EA: Mot A A
BE: BYSYAY
S D2 (MotET A A) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SEEEFEEEREER]
200,000& *23| 400
O=sMNSXTY 20,000 *308f A «33] 1,800
O3 140,000& = 12& 1,680
oz9+4Y 25,450
O A 60,0003 *1H x120 7,200
O=2t| 50,0003 *1H %365 18,250
OF=1=1s] 3,024
OBNM2dglI222| 3,024
02 3524 H| 8,484 8,484 0
OZ2Z22=2L Al 5,640
Oalola=AlE2(104 .33, HF)
400,000 x12& 4,800
OCHYYER=2 70,000& *123] 840
O A& &H| K X Hl| 2,844
O& XK= A 2=2] 350, 000& 33| x2CH 2,100
OZglEJl£el 34,000& x4 3| *4LH 544
OHA X H]| 200,000& x 13| = 1CH 200
o bl 36,000 36,000 0
202 04| 36,000 36,000 0
01 2L Y| 36,000 36,000 0
OJlegsa8 oyl 200,000 x15H x12& 36,000
THEES(Mol=Z A A) 4,497,253 2,693,249 1,804,004
= 229,000
= 4,268,253
HEHH XS (Aot AIE A) 2,036,253 2,038,249 A 1,996
M EEIHNMNES 2,000,000 2,000,000 0
701 JIEI HSHEZ 2,000,000 2,000,000 0
01 JIEtS HEE 2 2,000,000 2,000,000 0
OM+CEYHIIHNES 2,000,000
OXNEAMLECAILDEEAS 800,000
OZAMALE (B )R2 1,200,000
>ZEINHELEIHNES 36,253 38,249 A 1,996
701 JIEIS HSHEZ 36,253 38,249 A 1,996
01 JIEtSI HE &= 36,253 38,249 A 1,996
OxZEMNEELEINTEEZ2 36,253
oYotitEdt=&= 29| 8,895
Ooszlisota=E2% | 4,599
oM=2(0ISotE=E29]| 4,076
Oslisdtx==ad9d]| 7,037
Og4ditsstE==29]| 5,401




A dot=Z A A
H: HRES (Mot AHL)
Gel: WREAHAHXKIS (Mot A g A) (&)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| | CELEREYEEE] 6,245
BEXE (MBI T AN A) 2,461,000 655,000 1,806,000
= 229,000
e 2,232,000
Sh+=Go X Y 22 (8S sk 4as) 229,000 455,000 A 226,000
= 229,000
311 X+ S0l A& & 3,800 13,000 A 9,200
= 3,800
05 JIEHXH S 01 At & & 3,800 13,000 29,200
Olldot=HMelEDEHMeANELEXNAE =
Ol Kt &t &t 2,800
= 2,800
ODNHI=HMelBsAXNMAANEEXALY X
= 0l XA 1,000
= 1,000
601 XL S A& & 225,200 442,000 A 216,800
= 225,200
S JIEI =Y S S 4 E 225,200 442,000 A 216,800
Oldot=HMelEZDEHMeANELEXNAE gXt=
2o 149,200
= 149,200
ODNHI=HMelZsAXNMAANEEXAY X
= 348 76,000
= 76,000
=.THEX3teE= 2,232,000 200,000 2,032,000
802 BtEt= DI EF 2,232,000 200,000 2,032,000
01 22X 3eeE= 2,223,000 0 2,223,000
OEXAY F& BHEZ(=4]) 2,223,000
OsstsHEOISot=E & XA Z4 BHEg 42,000
Oct=T &l sF22XNF F=0TAE H
A BB S 2,159,000
O=10EX= F& 0k et s 22,000
02 Al - SHIEXZEHEZ 9,000 0 9,000
OB A Ha&k gratz (& Hl) 9,000
Oss=sHE0ISot=T&8XAMY Fat Bta g 9,000




